AiM User Guide

Kit for EVO4, Solo and SoloDL
on Yamaha R1-R6
2004-2013

Release 1.02

KIT



@ User Guide

1
Models and years

This manual explains how to install AiM Solo and SoloDL on Yamaha R1-R6 2004-2013 and how to
connect EVO4 and SoloDL to the Engine Control Unit (ECU) of the bike. Supported models and years
are:

e YamahaR1 1000cc 2004-2013
e YamahaRé6 600cc 2004-2013

Warning: do not remove the bike stock dash or the communication protocol will not work.

2
Kit content and part numbers

Different kits for Solo, Solo DL and EVO4 on Yamaha R1-R6 2004-2013 are available according to the
bike model and production year. All kits include the same installing bracket while the ECU connection
cable changes according to the bike production year.



@ User Guide

2.1
Kit for SoloDL and bracket for Solo

Available SoloDL kits are shown here below with the related part numbers.

Kit SoloDL for Yamaha R1 2004-2008 and R6 2006-2013 — part number: V0256919CS

The kit includes:

1 bracket (1)

2 distance pieces (2)

2 M6 self-locking nut (3)

4 M6 washers (4)

2 M4 self locking nuts (5)

2 M4 washers (6)

2 4x10 Allen screws with countersunk head (7)

2 6x60 pan head Allen screws (8)

1 AiM interface cable for Yamaha R1 2004-2008 and R6 2006-2013 (9)

AiM cable (9) and bracket (1) can also be bought separately as spare parts.
¢ SoloDL cable for Yamaha R1 2004-2008 R6 2006-2013: V02569190
e Solo/SoloDL bracket for Yamaha R1 2004-2008: X46KSYR16



@ User Guide

SoloDL kit for Yamaha R1 2009-2013 - part number: V0256921CS

The kit includes:

1 bracket (1)

2 distance pieces (2)

2 M6 self-locking nut (3)

4 M6 washers (4)

2 M4 self locking nuts (5)

2 M4 washers (6)

2 4x10 Allen screws with countersunk head (7)

2 6x60 pan head Allen screws (8)

1 AiM interface cable for Yamaha R1 2009-2013 (9)

AiM cable (9) and bracket (1) can also be bought separately as spare parts.
e SoloDL cable for Yamaha R1 2009-2013: V02569210
e Solo/SoloDL bracket for Yamaha R1 2009-2013: X46KSYR16



@ User Guide

SoloDL kit for Yamaha R6 2004-2005 - part number: V0256920CS

8]

The kit includes:

1 bracket (1)

2 distance pieces (2)

2 M6 self-locking nut (3)

4 M6 washers (4)

2 M4 self locking nuts (5)

2 M4 washers (6)

2 4x10 Allen screws with countersunk head (7)

2 6x60 pan head Allen screws (8)

1 AiM interface cable for Yamaha R6 2004-2005 (9)

AiM cable (9) and bracket (1) can also be bought separately as spare parts.
e SoloDL cable for Yamaha R6 2004-2005: V02569200
e Solo/SoloDL bracket for Yamaha R6 2004-2005: X46KSYR16



@ User Guide

2.2
Cables for SoloDL

Different cables for SoloDL on Yamaha R1-R6 2004-2013 are available also as spare parts according to
the bike model and production year.

SoloDL cable for Yamaha R1 2004-2008 and R6 2006-2013 part number is: V02569190. Here below on
it is shown on top while on bottom you see the construction scheme.

AMP 16 pin female AMP 16 pin male
connector pinout connector pinout
contact insertion view contact insertion view

|
@ n.c. 1 i ]
@ n.c. 2 im
@ Vbext 3 i11
@ 4 i12
® ne 5 jm
T pins Binder 712 ne K Line 6 i“"
male connector pinout B i
Solder terminatign view O G 7 5
@) ND sl M
|



@i/” User Guide

SoloDL cable for Yamaha R1 2009-2013 part number is: V02569210. Here below on it is shown on top
while on bottom you see the construction scheme.

Pinout of Pinout of 20 pins
20 pins JAE male connector JAE fermale connector
mounted on ASY 02 - PCB solder termination view

connector side view

A200[| ~
® ne .msaoJ 20 " 0} 105 2
@ e 20T @ o | o8 1]
A18 1 ® o |0 O 3
O— wrollle $ [0 3
A6O—}, @ O—
e |O O O
@ ne A22()_:|16 : : O Q5
A150— O 0
® ne -A140—-J e 9O I 8 8
&—— ol e O
®® A13 we %10 N1y O
0% © a2yl _— % —
Kline  White A ~
7 pins Binder 712 Vbext Blue )
male connector pinout
Solder termination view GND Black




@i/’l User Guide

SoloDL cable for Yamaha R6 2004-2005 part number is: V02569200. Here below on it is shown on top
while on bottom you see the construction scheme.

AMP 16 pin female AMP 16 pin male
connector pinout connector pinout
contact insertion view contact insertion view
|
@ n.c. 1 - i 9
@ ne. -l W
® Vbext  Blue 3l W
® <l M-
n.c.
sl W
7 pins Binder 712 @ ne K Li Whit 6 i iM
male connector pinout @ ine e 7 i i 15
Solder termination view G
® ND Black 8 i i 16




@ User Guide

2.3
Cables for EVO4

Different cables for EVO4 on Yamaha R1-R6 2004-2013 are available according to the bike model and
production year.

EVO4 cable for Yamaha R1 2004-2008 and R6 2006-2013 part number is: V02563170. Here below on it
is shown on top while on bottom you see the construction scheme.

AMP 16 pin female AMP 16 pin male
connector pinout connector pinout
contact insertion view contact insertion view

——
® e o TN ]
® GND Black —1 N W
@ nc L sl i11
® Kline  Red [4] — | “H M-
T [sH M
5 pins Binder 712 @ ne. [6] 15 - 14

| . (]

Saldor tormination visw ‘H s
sl M

I—

510 Ohm - 1/2 W
resistor



@i/” User Guide

EVO4 cable for Yamaha R1 2009-2013 part number is: V02563190. Here below on it is shown on top
while on bottom you see the construction scheme.

Pinout of Pinout of 20 pins

20 pins JAE male connector JAE female connector
mounted on ASY 02 - PCB solder termination view
connector side view

ifg (> h\ 10 26
g 20 1] © 08
® ne A230 ° : 8
rA18 ° O !_O i
@ a701e @ : b = Q0
510 Ohm HAate 0! [ ] ° O o) o—t
1/2 Watt a2 |16 ® o ol
@ n.c. resistor ° o O o) 3l
A50f1, @ g | © 1o 8
o—— mol“e8 |9 3¢
AZ10 : ° O NG O 3 -
A13
® 0 ® nc 1B3O4|] 1 1 §1) )
@ O A2Qy b AT Same =1
@ K Line Red A O, g
5 pins Binder 712 GND  Black

male connector pinout
Solder termination view



@ User Guide

EVO4 cable for Yamaha R6 2004-2005 part number is: V02563180. Here below on it is shown on top
while on bottom you see the construction scheme.

AMP 16 pin female AMP 16 pin male
connector pinout connector pinout
contact insertion view contact insertion view
]
@ n.c. 1 - i 9
@ 0 @ GND Black 2- im
@ Q9 @) ne. 3 i i11
©) ® Kline  Red [4] <l W
sl M=
5 pins Binder 712 @ ne @ 6 i im
male connector pinout i
Solder termination view ! - 1
sl W

—~{] |

510 Ohm - 1/2 W
resistor

10



@ User Guide

3
Installation and connection

Here you find instructions to install Solo and SoloDL and to connect EVO4 and SoloDL to the ECU of
your Yamaha R1-R6 2004-2013. All EVO4 cables for Yamaha are long enough to allow installation of
the logger under the bike seat.

3.1
Installation of Solo and SoloDL

To install Solo/SoloDL on your Yamaha R1-R6 2004-2013:

Fix Solo/SoloDL bracket (1) to Yamaha R1-R6
2004-2013 adapter bracket (2) using the screws
included in the kit.

11



cnrd

Hook Solo/SoloDL to its bracket.

Fix it using the screws already inserted rear on
Solo/SoloDL bracket.

Remove the screw caps from the bike
handlebars.

User Guide

12



@rrp

Remove the original screws that fix the
handlebars to the bike top plate.

Insert in the screws housings the cylindrical
distance pieces you find in the kit.

User Guide

13



@rrp

Place the adapter bracket holes in line with the
distance pieces you inserted in the handlebars -
if original — and insert and tighten the screws.

If your handlebars are not original lock the bolt
with the nuts you find in the kit.

User Guide

14



@rrp

The image here on the right shows SoloDL
correctly installed.

User Guide

15



@ User Guide

3.2
Connection of SoloDL and EVO4 to the bike ECU

To connect EVO4 and SoloDL to your bike ECU use the connector you find rear of the bike stock dash.

Remove the windscreen chassis to uncover
the stock dash rear connector highlighted
here on the right.

Remove the rubber cover from the connector
as in the image.

16



@ User Guide

Unplug the connector (A).

Plug the stock wiring connector to the first
AiM wiring connector (B).

Plug the second AiM wiring connector (C) to
the stock dash rear connector.

17



@ User Guide

Pull the connector (C) shown in the previous
image until you hear a click. The image on the
right shows the connector correctly plugged
in.

If you installed EVO4, take AiM cable -
highlighted in the image - to it.

If you installed a SoloDL make AiM cable pass
around the bike stock dash.

The cable will come up over the original dash
as indicated here on the right.

18



@ User Guide

Make AiM cable pass between the bike
handlebar plate and SoloDL adapter bracket.

Connect SoloDL as shown here on the right.

19



@ User Guide

4
Configuring with Race Studio 2

When EVO4/SoloDL has been connected it is necessary to set it up as connected to that ECU using
Race Studio 2 software.

4.1
Configuring SoloDL

Run the software, press “Device configuration” on the software left keyboard and select “SoloDL" in
the panel that shows up on here below.

RaceStudio 2.47.05H

onnload Data  [mport SmartyCam Data  Agalysis Device Info Online  Device Calibration  Custormize Sensor  Language 2

MyChron3 Kart
Plus/Gold/Ext

MyChron3 Auta/Mato
Plus/Gold/Ext

iy 3
@ Analysis M3Log/Visor XGLog

T oossavmn
E Import SmartyCam
microSD Data

MXL

DaVid

EVO3

Configura EV03 Pro/Pista
EVO4
@ Device Info
SHIC Bridge
e Online
SOLO DL

Racing Data Power

al

Customize Sensor ti

20



@i/” User Guide

The software shows SoloDL configuration page: press “Configuration manager” and select the
configuration you want to use or press “New” to create a new one. In this second case “New
configuration” panel shows up: select ECU Manufacturer “YAMAHA” and select an ECU model among
these available ones according to the production year of your bike. Here they are listed with the
different production years:

BIKE_R1_04_05_06 for Yamaha R1 from 2004 to 2006 included
BIKE_R1_07-08 for Yamaha R1 from 2007 to 2008 included
BIKE_R1_09_ 11 for Yamaha R1 from 2009 to 2013 included
BIKE_R6_04_05 for Yamaha R6 from 2004 to 2005 included
BIKE_R6_06_10 for Yamaha R6 from 2006 to 2013 included

B8l Racestudio 2.47.05H

File Device Configuration Download Data Import SmartyCam Data  Analysis Device Info  Online  Device Calibration  Customizs Semsor  Language 2

= System manager

Curment configuration

[ t!'g Tranzmit @ Receive l
AIM Sportline
(iR ¥Woric) Fe e i e o Configuration | |Installation name: ILoager [EEU Manuiacturer [ECU Model
Manager || DEFALLT |soLooL [ suzuki [ vOSHIMURS_o9
[Aim .
b Analysis Thannels of curent conliguration
Channel identifisr Enabled;... | channel name Sampling frequency [ sensar type Measure unit [~
[ Internal Battery 1Hz _=| woltage sensor [
% Download Data CALC_GEAR . - g
acc_1 -
Accz l P New l g7 Delat ] I % Clone ] l ﬂ:) Import ” ﬁl Export ]
Import SmartyCam ACC 3
microSD Data BATT - 5 :
I N Installation nams New configuration | crested |
= 1 DEFALLT b = | February 19, 2013
= Y ECU_2 _ Drata logger type El .
@ Device Configuration EEE—: New configuration name [DEFALLT | !
N | ECU Manufacurer | vaMAHA ~| q
. = ECUE ECU Model BIKE_F1_04_05_06 4
@ Device Info ECL_?
Speed measure Uit
ECU_8
ECU 9 Temperature measure unit
@ Online ECU_L0 Pressure measure urit Hl
- ECU_11 4]
ECU_tz 4l
ECU_13
Device Calibration ECU_t4 Fl
ECU_15 4]
ECU_L6 l of Ok ] [ & Cancel d
Customize Sensor ti e !
= = ECU_1E i g
ECLU_19 1|
e ECU_z0 I VOSHI_ADY_4 10Hz _=| angle sensor il

Confirm pressing “OK” in both panels and transmit the configuration to SoloDL pressing “Transmit” as
shown below.

| System manager.

Current confiqunﬂon

l Tranzmit

lInztallation name
| DEFAULT

Receive l

Configuration
M anager

21



P57 User Guide

4.2
Configuring EVO4

Run the software, press “Device configuration” on the software left keyboard and select “EVO4” in the
panel that shows up on the right as here below.

RaceStudio 2.47.05H

Bl Device Configuration Dowrload Data Import SmattyCam Data  Apalysis DeviesInfo  Online  Device Calbration  Customize Sensor  Languags 2

MyChron3 Kart
Plus/Gold/Ext
MyChron3 Auto/Moto
Plus/Gold/Ext

AIM Sportline

im
@ Analysis
T owntond vaa
m Import SmartyCam
microSD Data

g Device Configuration

"

¥4 Device Info
28 Qnline
SOLO DL

@ Device Calibration
4 Racing Data Power
B=| Customize Sensor ti

Qﬂ Goto

Language

22



/7 User Guide

The software shows EVO4 configuration page: select the configuration you want to use or press “New”
to create a new one. In this second case “New configuration” panel shows up: select ECU Manufacturer

“Yamaha” and choose an ECU model among the available ones according to the production year of
your bike.

e BIKE_R1_07-08 for Yamaha R1 from 2007 to 2008 included
e BIKE_R1 .09 11 for Yamaha R1 from 2009 to 2013 included
e BIKE_R6_04 05 for Yamaha R6 from 2004 to 2005 included
e BIKE_R6_06_10 for Yamaha R6 from 2006 to 2013 included
[&] RaceStudio 2.48.00

File Device Configuration Download Data  Impork SmartyCam Data  Apalysis  Device Info - Online  Device Calibration  Customize Sensor Language 7

SmartyCam Functions
l @ Tranzrit H @ Receive l l @ CAMN-Met info l l |§| setting

AIM Sportline Current configuration

==

-
@ Set acquizition

The World Leader in Data Acquisition B [ instslistion nsme | Data logger type | Ecu | Lap Timer | “ehicle name Available time | Time with GP
DEFALLT E%(Cd - 5 channels Bt - BIKE_S1000RR Optical DEFALULT 6.54.16 (ham.s) 4.40.38 (h.m
R .
Analysis Select configuration | Channels | System configuration | Display | C&N-Expansions configurator |
[l * Mew W Delete l i Clane l SD Impart l l S‘ Expart l
; Download Data
M Installation name | Logger | ECU Manufackurer | ECU Madel ‘ Lap Timer
1 DEFALLT _~| optical I
e 0 Q G 0
H DEFAULT E | optical ]
Import SmartyCam -
lEl microSD Data 3 DEFALLT Mew configuration name |DEFALILT | 0403 | optical B
4 DEFALLT RR | optical B
5 [EEA Yehicle name |DEFAULT | pre | optical E
. Device Configuration Data logger type EVD4 - § channels
ECU Manufacturer [ PaMAHA ]
Device Info ECU Model BIKE_R1_04_D5_06 ~
! BIKE_R1_07 02
Speed measure unit BIKE R 0911
: ) BIKE_RE_D4_05
Online Temperature measure unit BIKE BE 08 10
SCOUTER_TH.
Pressure measure unit bar v
Device Calibration
BEH| Customize Sensor
l of OK ] l &] Cancel

Lanauaae

23



canrd

User Guide

Confirm pressing “OK” and transmit the configuration to SoloDL pressing “Transmit” as shown below.

Tranzrmit

=l Receive ‘

Current configuration

Installation name

| Data logger type

| Ecu

DEFALLT

E%iQd - 5 channels

Bl - BIKE_S1000

5
Yamaha protocol

Channels received by SoloDL and EVO4 with Yamaha protocol are the same with the different
protocols but it is necessary to set the protocol corresponding to the year of production of your bike

to receive them correctly.

ID CHANNEL NAME
ECU_1 R1_RPM

ECU_2 R1_WH_SPEED
ECU_3 R1_ECU_ERR
ECU_4 R1_WATER_TEMP
ECU_5 R1_AIR_TEMP

FUNCTION

RPM
Wheel

speed

ECU error

Engine coolant temperature

Intake

air temperature

24



